
 

 

 

𝐾𝑛 = 𝐾0 · (1 + 𝑟)𝑛

𝐾4 = 15000 · (1 + (
2.65

100
))

4

= 16654.326

2.65% 16654.326

 

𝐾4 = 12830.80, 𝑛 = 4, 𝑟 = 3%, 𝐾0 =?

12830.80 = 𝐾0 · (1 + (
3

100
))

4

⇔ 

12830.80 = 𝐾0 · 1.12550881 ⇔ 
12830.80

1.12550881
= 𝐾0 ⇔ 

𝐾0 = 11399.999 ≈ 11400

11400𝑘𝑟 3%

𝑎 = 0.035 𝑏 = 2.237

 

𝑦 = 0.035𝑥 + 2.237

 

2.4 = 0.035𝑥 + 2.237 ⇔ 

0.163 = 0.035𝑥 ⇔ 

𝑥 =
0.163

0.035
= 4.657

2013 + 4.657 = 2017.657

2017 2.4
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𝑦 𝑥

 

𝑦 = 17.4 · 𝑥0.25

75 75

𝑦 = 17.4 · 750.25 = 51.205

75 51.205𝑠𝑒𝑘𝑢𝑛𝑑𝑒𝑟

 𝐴 𝐵

𝐹𝑦 = 𝐹𝑥
𝑎

(1 + 𝑟𝑦) = (1 + 1)0.25 ⇔ 

1 + 𝑟𝑦 = 1.1892071150027211 ⇔ 

𝑟𝑦 = 1.1892071150027211 − 1 ⇔ 

𝑟𝑦% ≈ 18.9207%

18.9207% 𝐴 𝐵

 𝐵 |𝐴𝐶|

90𝑜

ℎ

ℎ = 𝑚 · sin(𝐶)

ℎ = 9 · sin(32) = 4.769

ℎ 4.769𝑚

 

𝑚2 = ℎ2 + 𝑏2

𝑚 = 9, ℎ = 4.769, 𝑏 =?
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92 = 4.7692 + 𝑏2 ⇔ 

𝑏2 = 92 − 4.7692 ⇔ 

𝑏 = √92 − 4.7692 = 7.6326

𝑏 = |𝑀𝐶| |𝐴𝐶|

|𝐴𝑀| |𝐴𝑀| = |𝑀𝐶|

|𝐴𝐶| = |𝐴𝑀| + |𝑀𝐶| = 7.6326 + 7.6326 = 15.2652

|𝐴𝐶| 15.2652𝑚

37, 37, 37, 38, 38, 38, 39, 39, 39, 39, 39, 39, 40, 41, 42, 42, 43, 45, 45, 45, 45

 

37, 37, 37, 38, 38, 38, 39, 39, 39, 39, 39, 39, 40, 41, 42, 42, 43, 45, 45, 45, 45

10 39

37, 37, 37, 38, 38, 38, 39, 39, 39, 39

37, 37, 37, 38, 38, 38, 39, 39, 39, 39

38 + 38

2
= 38

39, 40, 41, 42, 42, 43, 45, 45, 45, 45

42 + 43

2
= 42.5

𝑆𝑡𝑎𝑟𝑡 = 37 

𝑁𝑒𝑑𝑟𝑒 = 38 

𝑀𝑒𝑑𝑖𝑎𝑛 = 39 

Ø𝑣𝑟𝑒 = 42.5 

𝑇𝑜𝑝 = 45
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50%

45

 𝑎

𝑏

𝑎 = √
𝑦2

𝑦1

𝑥2−𝑥1

, 𝑏 =
𝑦1

𝑎𝑥1

𝑎 = √
369

255

4−0

= 1.09678, 𝑏 =
255

1.096780
= 255

𝑦 = 255 · 1.09678𝑥

 𝑏 𝑎

𝑎 = 1 + 𝑟

1.09678 = 1 + 𝑟 ⇔ 𝑟 = (1.09678 − 1) · 100 = 9.678%

9.678%

0 10 20 30 40 50 60

HF klasse

Baskethold
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𝑇2 =
log(2)

log(𝑎)

𝑇2 =
log(2)

log(1.09678)
= 7.503

7.503 255𝑚

Å𝑟 2009 2011 2013 

𝐴𝑛𝑡𝑎𝑙 61224 54842 𝑦 
𝐼𝑛𝑑𝑒𝑘𝑠𝑡𝑎𝑙 (𝑏𝑎𝑠𝑖𝑠å𝑟 2009) 100 𝑥 81.0 

 

61224 · 𝑥 = 100 · 54842 ⇔ 

61224 · 𝑥 = 5484200 ⇔ 

𝑥 =
5484200

61224
= 89.57598

89.57598

Å𝑟 2009 2011 2013 

𝐴𝑛𝑡𝑎𝑙 61224 54842 𝑦 
𝐼𝑛𝑑𝑒𝑘𝑠𝑡𝑎𝑙 (𝑏𝑎𝑠𝑖𝑠å𝑟 2009) 100 89.57598 81.0 

54842 · 81.0 = 89.57598 · 𝑦 ⇔ 

4442202 = 89.57598 · 𝑦 ⇔ 

𝑦 =
4442202

89.57598
= 49591.441

2013 49591

Å𝑟 2009 2011 2013 

𝐴𝑛𝑡𝑎𝑙 61224 54842 49591 
𝐼𝑛𝑑𝑒𝑘𝑠𝑡𝑎𝑙 (𝑏𝑎𝑠𝑖𝑠å𝑟 2009) 100 89.57598 81.0 
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∠𝐶 = 29𝑜  og |𝐵𝐶| = 5.2

𝑇 = 8.4

|𝐴𝐶|

𝑇 =
1

2
· |𝐵𝐶| · |𝐴𝐶| · sin(𝐶)

8.4 =
1

2
· 5.2 · |𝐴𝐶| · sin(29) ⇔ 

8.4 =
1

2
· 5.2 · sin(29) · |𝐴𝐶| ⇔ 

8.4 = 1.2605 · |𝐴𝐶| ⇔ 

|𝐴𝐶| =
8.4

1.2605
= 6.664

|𝐴𝐶| 6.664
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